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00 7100 mOOO «a000002z=a (modm) 000000 000000
a+mZ 00000 mOOOO0O0OeOOODOOODOODODOO;

a+mZ={z€Z| zr=a (modm)}.

0+mZ0 mZ 0D00D00O0 ODO0D0O0OODOODDOODOmOOODOODOODO
00 e O00O0D0O0ODOODO a=a+mZO

gbbbuoodgbobbbooobbboooobbod

ob 7.2m0d0O0 o bc00000O00O

(1) a+mZ=b+mZ, (a+mZ)N(b+mZ)=¢ O00DOOOODDOOOOD
(2) bcea+mZ 000 b=c (modm)d
(3) ODDO40000000000;

a=b (modm), a€b+mZ, bea+mZ, a+mZ=b+mZ

OooboboobD mOOO0OO0O0ODOODOOD “DCO0”"0b0ob0O0o0bO0obOo b0 mmbO
obobooboobooboob ZzoobooobdommbObObOODOODOOD ODDOOD
gboogobogoboooobooooboooobognoodoogooogoobodn
gbb ooobboboooobbooogbon

ugb 7300 mO00000 mO0000000O00O0O0OOO0DOO0ODOO0O m
O000O0ooooooZ/mz 00O0O;

Z/mZ={a+mZ | acZ}.
0000000000000 mODOO0OO0D0D000 a+mZ0O a00O00 000000
OmO00000,1,2,---,m—10000000000000000000000O0O0
Z=0Ulu2U---Um—1, anb=¢ (0<a<b<m).
D0000000D00000 mDOOOO
Z/mZ=1{0,1,2, m—1}
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14, 1 6,-—89,53,-—113355,23-74,6633}

Z/7Z = {
D000D0000000000000000000000000

7.2 ODOOOO0OO0

gooooooooooo
a; = ag, by =by (mod m) = a;+b =ay+by, arhy =axbs (mod m)

DbOooboobooboobbgs2t0g boobbo20000000000000
ooooboobbodboboboboboboboooobobobobobobobon
OO0 ODoo0ooooooooboooo sor"0 “0’boboboboobooboboooob
oogd

00 74000 a+mZ,b+mZe€Z/mZO0OOODOOOOOOOODO
(a+mZ)+ (b+mZ) = (a+b)+mZ, (a+mZ)(b+mZ) = (ab) + mZ
0oooooooo

gbbbooggbboboooobn

G+b=a-+b, @b = ab

O0000000000 0000000000000 00000000 ODoOooovYo
0000 243=5002-3=600..00003+5=104-6=30000000
O0000O0Oooooo..0oooooo

a+b=¢, ab=d
gooooooooooo
a+b=c, ab=d (modm)

gbogbbodbbbuoboobbuooobuoobboobooooboobboob
gbboogbobogobbooboooubooobbobboobbooobboon
gbobbuoogobbboodgbbbuoooob ooobbbuu 000000

ar=b (mod m)
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gbbobooboodgbbobuog bobbuoodbb c00bbbuooobbboooob
O000000000000000 Z/mZOOO0O0OOOOD0O0OOO0DO0OO0OO0OOOOO
gboboboogogbbbuooooboboooobooooon

O00¢“= (mod )"0 ZOOODO0OOOUODOOOOOOODODOO ZOOOOOooooOoO
00000000 Z/mZ0O0OOODO0O0OD0OODODOO O000OO0ODOOOOCOOOOO0OO
gobobooogbobuoooobbbuoooobbbuoooobboobbibdoooe
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000 mO00 MOOOO 00000 b0 a=b(modM) 00000000
M|(a—b) 000 ml(a—b0000 a=b(modm) 00000000 M OOOO
Z/MZ OO0 mO000 Z/mZOOOO

Z/MZ — Z/mZ, a+MZ— a+mZ

oooobooboob obbooMUObOoUoboob mypnOODODOODODODDODO
ggd
Z/IMZ — Z/nZ, a+MZw— a+nZ

gbooboboboooobbbooogboobobod
F:Z/MZ — (Z/mZ) x (Z/nZ), a+MZ — (a+mZ,a+nZ)

0000000 0O000000000F@) =(a,e 0000 000000000 a00
0 MOOOOmOD nO00000000000000000 00000000000
000000

0000000 MO mnrO0O0000000000FO0000000 0000000
0000abeZ0 Fla+MZ)=F(b+MZ)000O000000

a+mZ=b+mZ OO0 a+nZ=b+n2,

000 «—b00mO000000 nO0000000000OM =lem(m,n) 00000
OO0 e+MZ=0+MZDOUODOO OOO FOOOOOOODODODOOOOOO OO
gbo200000 m,pn 00000000000 0O0O00O0O0O0O0O0ODOO0O0OO0O0O0O00

oo w5 000 m,....,m, DO00O0O0OMOOOOOOOOOOOOOOOOOO
ZIMZ —s (Z)mZ) % - % (Z|m,Z)

oobooooo oooomMd m,...,m DO0OOO0OODOOOODOOOOODOO
ERERE
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Doodb0 MOo200000000000000O0OO0ODODODOODOD ODO
OOM=mnODOOOO0OO0 mpnO00000000 ODOOOOmenUO0000000
MDODOOODOD Obooboobwsb0ooboon

F:Z/MZ — (Z/mZ)x (Z/nZ)

0000000 00000000Z/MZO0OO0000 M=mn 000000000
(Z/mZ)x (Z/nZ) 000000000000 F 00000000000 000000
00000000 2000000 A BOOOODODAODD BOOOOOODOOOOO0OO
000000000000000000000000000 0000002000000
000000 my,...,m, 00000000 m;---m, 000000000000000
0000000000000

o0 7e 002000000000000 mq,...,m, JOO0OOM =my---m, O
goooooooo

ZIMZ — (Z)mZ) % - x (Z|m,Z)
gobooooooooooooodonn

guododud n0Ob0bbboooooooaa
n=p--per (p; 0000000, ¢ >0)
goodooooon
ZnZ — (Z/py'Z) x --- x(Z/p; Z)

O00000000000000 0000000 7600000000000000 Z/nZ
0000000000000 Z/p'ZO0O000O0O0O0O0O0O000000o0o0o0OOo
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O076000000000000 (0065 0000000000000O0O0O

O0e6500 300000760000 FOUUODD ODOODFOODDODODOOOODDOODO
oooQ ay,...,a, € Z0OOOO Fla+MZ) = (a1 +mZ,...;a,+m,Z) 0000
reZU00O00O0O0O0O ooooo

r+mZ=a1+mi4, ..., x+m.ZL=a+m 24

0000000000000002z000000 2=a; (modm;) (i=1,...,r)0000
0000000000000, 0000000000000F(z+MZ)=F(2'+MZ)
O0000FO0O0000000000z+MZ =4'+MZOOOOO 2 =4 (mod M)
000000 MOOOOO0O0000000000000 O
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gbrebdb00oO0bOO0OO0ObOO0ODOO0ObO0ODbOO0DbOOD



